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Limonene VELY 95.250%
Myrcene A4 1.880%
a —Pinene [ 0.420%
Perillene N 0.300%
B —Phellandrene B-7x7 NV 0.180%
Sabinene LAy V2 0.160%
B ~Ocimene(E) B =AY A/(E) 0.140%
Neryl acetate IINT X T—h 0.130%
Octanal A) 3=y 0.080%
a —Terpineol a—TVE L= 0.040%
Nonanal )T = 0.030%
o —Cymene 0~—VA/ 0.030%
Linalool oxide Vra—nAE AN 0.020%
B —Caryophyllene B=AT4V 0.020%
Octanol A)R )= 0.010%
B —Ocimene(Z) B =AYV A7) 0.010%
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Limonene VELY 95.400%
Myrcene A4 2.000%
a —Pinene [ 0.470%
B —Caryophyllene B=AT4Vv 0.400%
Sabinene Frr 0.300%
Octanal A5 =) 0.180%
Decanal Tt 0.140%
Neryl acetate IINVT X T—h 0.140%
Linalyle acetate VFINTET—h 0.120%
B —Phellandrene B-7x7 NV 0.120%
B ~Ocimene(E) B =AY A/(E) 0.090%
Perillene Ny 0.080%
a —Terpineol a —TIVE XA =V 0.070%
[imonene oxide VEXVAFFAR 0.030%
o —Cymene 0 —VA/ 0.030%
Nonal )= 0.020%
Octanol AIR )= 0.020%
B —Ocimene(Z) B~y A7) 0.020%
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Limonene VELY 94.990%
Myrcene A4 1.950%
a —Pinene [ 0.480%
Nonal )= 0.200%
Sabinene Frr 0.180%
B —Phellandrene B-7z7 NV 0.170%
Decanal Tt 0.140%
Octanal A5 =) 0.140%
B ~Ocimene(E) B =AY A/(E) 0.100%
Linalyle acetate YFHINTET—] 0.080%
Limonene oxide VELVAFAN 0.060%
a —Terpineol a—TIVE L= 0.060%
o —Cymene 0 —VA/ 0.060%
Neryl acetate KINT X T—h 0.040%
Perillene ~Nvv 0.030%
Octanol A5 )=V 0.020%
B —Caryophyllene B-MA74v 0.020%
B —Ocimene(Z) B =AYV A7) 0.010%



